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iIn'preparation for the upcoming terst.

Social: Ilwill show respect to otherrs inthe clayys
byllistening and not interrupting.
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Previous Assignments Questions
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A simple random sample of 9 students was selected from a large university. Each of these students reported

.
A the number of hours he or she had allocated to studying and the number of hours allocated to work each week.
A least squares linear regression was performed and part of the resulting computer output is shown below.

F RA P PY Predictor Coef StDev T P
Constant 8.107 2.731 2.97 0.021
Work 0.4919 0.1950 2.52 0.040
8=47349 R-Sq=47.6% R-Sqg(adj)=40.1%

The scatterplot below displays the data that were collected from the 9 students.
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(a) After point P, labeled on the graph on the previous page, was removed from the data, a second linear
regression was performed and the computer output 1s shown below.

Predictor Coef StDev T P
Constant 11.123 3086 2.79 0.032
Work 0.1500 (.3834 .39 0.709
S=4327 R-5g=2.5% E-5q (ad)) = 0.0%

Does point P exercise a large influence on the regression line? Explain.



More with the ‘FRAFFY

Predictor Coef StDev T P
Constant 8. 107 2.731 2.97 0.021
Work (0.4919 0. 1950 2.52 0.040

S =4.349 R-Sq=47.6% R-Sq (adj) = 40.1%

. Wriiyibe equation of the regression line:

Study~ & 107 * 0. 491G woelK
Explam (m context) what the slope means.
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Reminder - rules about correlation...

r =

* If | were to switch the previous relationship to study on the
x-axis and work on the y-axis, what would happen to
correlation?

* |If | were to change the units on study to minutes, what

would happen to correlation? —
* What are other restrictions on correlation? S
* Units?

e Limits of values?

 Limits on data types?



Re-view Re-expression

 Using the data from the warm-up
* Try to straighten the plot by taking the log of
height
« Did that work?
D 4 « How do you know?
( \ * Write the model for this relationship

S " * Use this model to predict the height of
someone who is 16

 How would this work for someone who is 30?
* Why?
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